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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following as directed: 1x7=7

ot Srpift wote i T Tes &l g

(a) Which of the following ions has
highest radii ?

@z ¢

F62+, C02+, Ni2+, cu2+
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(b) What is ambidentate ligand ? Give one
example.

GfRreros o e oo Swizad i

(c) Oxide of is used as catalyst for
manufacturing H,SO,.

(Fill in the blank)

3 u33es H,SO, CSUR IR

SEsT 2 IR A W
(1T} 312 979 F0)

(d) Choose the correct option :
a7 TeIH! e Tlered 3

Dominance of strong repulsive forces
among the molecules of gases —

(IRT 9T TR O [edd e doR—

(i) depends on Z and Z=1

Z I 8oIe RASI @R Z2=1
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(i) depends on Z and Z>1

ZI GoC ST @ UF Z> 1

(iii) depends on Z and Z<1

Z3 8% RSI @ OIF Z< 1

(iv) Does not depend on Z

Z 3 8239 Ao 991
(e) What is the SI unit of viscosity ?

Aok SI O & ¢

() How covalent radii vary in a period ?

TS GEAE (L AT GOIS Fefiw = 2

(g9 What is the effect of temperature on

viscosity of a liquid ?

©Ie] AIHOR 8o [T TxeN & deiR ot ¢
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2. Answer all question: 2x4=8
oo fAarTRe Be] 391 3
(a) Ionization energy of oxygen is less

(b)

than that of nitrogen. Explain.

SREAI WS W& FRprETeld I |
IR F9A |

What do you mean by ionization
isomerism in co-ordination complex?

Give one example.

S AT (TR AT eI FAC O] IfeeT
& =i e @bt Twizgd e |

If the value of Van der Waal’s constant
“ for a gas is zero, can it be

liquified ? Justify your answer.

S G 6] 739 ‘@’ W (I 61 (Tl
AR PV TE (IO OO FRI oA
IREA ¢ L& SO |
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(d) Find the Miller indices for a plane
(2a, -3b, —c).

Wed (2a, -3b, —c) I fegs pis [l
ol

3. Answer any five of the following: 5,5_15
wee AP’ frerar sisoe Tes v g

(a) Define atomic radius. Discuss how
atomic radius vary in periods and
groups of periodic table. Why atomic
radius of oxygen is less than that of
beryllium ? 1+1+1=3

AT PPIF FIF QIE 2 S OifeiR
ofia S I57S ARNARE AR FEATE T
=7 A 9| SRS ARTRE geR
RiERFETeE % 90

(b) What are Latimer diagrams? What are
the characteristics of Latimer diagrams ?
1+2=3

@ioue foa & 2 bR foar MR &
e
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(c) Write the IUPAC names of the
following : 1x3=3

weTe AP IUPAC FSRR9 31 8
() Fe,[Fe(CN)],

@ |[cu(H,),]so,

(iii) [Pt (NH,)BrCl(ONO)|

(d) At what temperature will He have the
same r.m.s. speed as H, molecules
have at 27°C?

¥ B3ee® He ¥ r.m.s. ffo@@ H, 993
27°C TIOR r.m.s. O35 FAAN 2] ¢

(e) Assign reasons for the following

statements : 1%x2=3

wore il IReT IR o e

() The surface of a liquid behaves
as a stretched membrane.

TR F¥% B AT A TRIR WF o
T |
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(i) Cooling is always caused during
evaporation.

TSI TS oA OS2 |

(f) Describe a method of determining

viscosity. 3

el [T 91 oS o1 3 =111

(g9 How many Bravais lattices are
available in orthorhombic system ?

Name them. 1+2=3
GdET (Ao @201 @AoR @by wg 2
HrOJPCE N fol |

4. Answer any six of the following: 5x6=30
wete AR Ricwizal 519 Tl 311 ¢

(a) What is diagonal relationship. What is
the basis of diagonal relationship?
Discuss this between lithium and
magnesium. 1+2+2=5

3 3T &2 o 991 ofe & ¢ &REw
R (eifRRER 3 T35 RIw &)

3 (Sem-2/CBCS) CHE HG/RC/G 7 Contd.



BIKALI COLLEGE LIBRARY

(b) What is inertpair effect ? Discuss the
consequences of this effect? Explain
this effect in case of Pb and TL

1+2+2=5

fAfgn g frm & ¢ TR SifRaw @ 2SR
HICEASAl 91| Ph Wi TI9 CFqe €3 f&
S 1 |

(c) Explain the formation of [Ni(CN),J”
ion with the help of VBT. What will be
‘the magnetic moment of this complex ?
4+1=5
VBT ©G JTS [Ni (CN), P~ 516+ I 0|

G WIR FERY QNS Slereq |

(d) Discuss the
(i) Oxidation state and

(ii) formation of colored complex
behaviour of transition elements.
2Y2x2=5

(i) SR TILF A

(i) IS ol el ST
CTeTRAIRR CFAS I 0|
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(e) Write notes on: 2Y2%x2=3
GOt ot
(i) Fullerenes
R QIR
(i) Jahn-Teller effect
G'H-(5e1E A

() Calculate the CFSE of [Co (H,0).F*.

Why CFSE of tetrahedral complexes is

less than that of octahedral complexes ?
3+2=5

[Co (H,0),}* I CFSEX = ®fersdl|

SPTARIY (AR OEAre peFadi (A9
CFSE &g &% ¢

(g) Derive all the critical constants values
from the Van-der Waals equation. S

O TR 6] AP AR TS 4IF T
Tferedl |
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(h) For an elementary reaction 2A+B —3C
write the rate laws. If the rate of
appearance of ‘C’ at time ‘¢ 1is

13x10*molL7!S™?, then calculate

(i) rate of the reaction

(ii) rate of the disappearance of A at
this time 1+2+42=3

@I 9ot cnfee R 24+B->3C I
SifSTasl J@e! o) T ¢ THES ‘C7 Ao
sfe@ 1:3x10*molL's™ = (or® R
AAACOZ

() RiTamR afsa et

(i) A Roaems sifors Sfesa

() Mention various methods for the
determination of the order of a

reaction. Write any two methods in
detail. 1+2+2=3

S 39| R g1 simfs IR vt
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() A first order reactions is completed
20% in 10 minutes. Calculate the

following : 5

90! AN FAI REFTR 20% 794 iteT 373
&iest 10 [iHG | «font wair faat s wiw e
LD |

(i) the rate constant

S I T

(i) The time taken for the reaction to
become 80% complete

RGBT 80% sj<f = =1l 5w

(ii7) The half-life period of the reaction.
RIFAOR SEGRA 3 |

(Sem-2/CBCS) CHE HG/RC/G 11 3600



